Bid #OPN2115473B2 - Submersible Lift Station Pumps, Parts, and Repair

Creation Date Mar 12, 2018 End Date Apr 27, 2018 2:00:00 PM EDT

Start Date Apr 6, 2018 8:45:35 AM EDT Awarded Date Not Yet Awarded

OPN2115473B201-01 Group 1: Subn	nersible Pump, Curve #	t1, 240V, 3 Phase, 3	3 HP, 4 in. Discharg	e, 2 in. G	uide
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Grundfos	First Offer - \$2,382.00	2 / each	\$4,764.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Ma Model Name/No.: S Curve: Curve 1 Voltage: 240 V Phase: 3 Ph Rated Horsepower of Discharge Size: 4 Includes Impeller (Y	nufacturer Offered: L1.30.A40.30.EX.4.61R.C (HP): 3 HP h	Grundfos	
F J Nugent & Associates Inc	First Offer - \$2,559.00	2 / each	\$5,118.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Manufacturer Offered: Ebara Model Name/No.: 100DLBKFMU62.22 Curve: 1 Voltage: 240 Phase: 3 Rated Horsepower (HP): 3 Discharge Size: 4 Includes Impeller (Yes/No): Yes			
Barney's Pumps, Inc.	First Offer - \$2,854.00	2 / each	\$5,708.00	Υ	Υ
Product Code: Agency Notes:			(HP) : 2.9		

OPN2115473B201-02 Group 1: Submersible Pump, Curve #1, 240V, Single Phase, 3 HP, 4 in. Discharge, 2 in. G						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
F J Nugent & Associates Inc	First Offer - \$2,159.00	2 / each	\$4,318.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes: Ma Model Name/No.:1 Curve:1 Voltage: 240 Phase:1 Rated Horsepower Discharge Size:4 Includes Impeller (N	nufacturer Offered: 00DLBKU62.2S (HP): 3	Ebara		
Barney's Pumps, Inc.	First Offer - \$2,846.00	2 / each	\$5,692.00	Υ	Υ	
Product Code: Agency Notes:		• • •	ode: AMS434/1-160/3.0 nufacturer Offered:			

Model Name/No.: AMS434/1-160/3.0T/C FM
Curve: 01-02
Voltage: 230
Phase: 1
Rated Horsepower (HP): 3
Discharge Size: 4
Includes Impeller (Yes/No): Yes

OPN2115473B201-03 Group 1: Submersible Pump, Curve #1, 480V, 3 Phase, 3 HP, 4 in. Discharge, 2 in. Guide						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Grundfos	First Offer - \$2,382.00	10 / each	\$23,820.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Ma Model Name/No.: S Curve: Curve 1 Voltage: 480 V Phase: 3 Ph Rated Horsepower (Discharge Size: 4 Includes Impeller (Y	nufacturer Offered: L1.30.A40.30.EX.4.61R.C (HP): 3 HP h			
F J Nugent & Associates Inc	First Offer - \$2,559.00	10 / each	\$25,590.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Manufacturer Offered: Ebara Model Name/No.: 100DLBKFMU62.22 Curve: 1 Voltage: 480 Phase: 3 Rated Horsepower (HP): 3 Discharge Size: 4 Includes Impeller (Yes/No): Yes				
Barney's Pumps, Inc.	First Offer - \$2,854.00	10 / each	\$28,540.00	Υ	Υ	
Product Code: Agency Notes:		Supplier Product Control Supplier Notes: Ma Model Name/No.: A Curve: 01-03 Voltage: 480 Phase: 3 Rated Horsepower Discharge Size: 4 Includes Impeller (Y	nufacturer Offered: MS434-160/2.9T/C FM (HP): 2.9			

OPN2115473B202-01 Group 2: Submersible Pump, Curve #2, 240V, 3 Phase, 5 HP, 4 in. Discharge, 2 in					ide
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Grundfos	First Offer - \$2,490.00	2 / each	\$4,980.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes: Ma Model Name/No.: S Curve: Curve 2 Voltage: 240 V Phase: 3 Ph Rated Horsepower Discharge Size: 4 Includes Impeller (Y	nufacturer Offered: L1.30.A40.55.EX.4.61R.C (HP): 5.5 HP h		
F J Nugent & Associates Inc	First Offer - \$2,659.00	2 / each	\$5,318.00		Υ
Product Code:	_	Supplier Product C	ode:		

Agency Notes:	Supplier Notes: Manufacturer Offered: Ebara Model Name/No.: 100DLMBKFMU63.7 Curve: 2 Voltage: 240 Phase: 3 Rated Horsepower (HP): 5 Discharge Size: 4 Includes Impeller (Yes/No): Yes					
Barney's Pumps, Inc.	First Offer - \$2,978.00	2 / each	\$5,956.00	Υ	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Man Model Name/No.: A Curve: 02-01 Voltage: 230 Phase: 3 Rated Horsepower (Discharge Size: 4 Includes Impeller (Y	nufacturer Offered: MS434-180/5.5T/C FM (HP): 5.5			

OPN2115473B202-02 Group 2: Subme	OPN2115473B202-02 Group 2: Submersible Pump, Curve #2, 240V Single Phase, 5 HP, 4 in. Discharge, 2 in. Guid						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
F J Nugent & Associates Inc	First Offer - \$2,420.00	10 / each	\$24,200.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Manufacturer Offered: Ebara Model Name/No.: 100DLMBKFMU63.7S Curve: 2 Voltage: 240 Phase: 1 Rated Horsepower (HP): 5 Discharge Size: 4 Includes Impeller (Yes/No): Yes					
Barney's Pumps, Inc.	First Offer - \$3,190.00	10 / each	\$31,900.00	Υ	Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Ma Model Name/No.: A Curve: 02-02 Voltage: 230 Phase: 1 Rated Horsepower (Discharge Size: 4 Includes Impeller (Y	nufacturer Offered: MS434/1-180/5.1T/C FM (HP): 5.1	Homa			

OPN2115473B202-03 Group 2: Submersible Pump, Curve #2, 480V, 3 Phase, 5 HP, 4 in. Discharge, 2 in. Guide						
Supplier	Qty/Unit	Total Price	Attch.	Docs		
Grundfos	First Offer - \$2,490.00	2 / each	\$4,980.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes: Ma Model Name/No.: S Curve: Curve 2 Voltage: 480 V Phase: 3 Ph Rated Horsepower (Discharge Size: 4 Inc Includes Impeller (Y	nufacturer Offered: L1.30.A40.55.EX.4.61R.C (HP): 5.5 HP h			
F J Nugent & Associates Inc	First Offer - \$2,659.00	2 / each	\$5,318.00		Υ	

Agency Notes:		Supplier Product Code: Supplier Notes: Manufacturer Offered: Ebara Model Name/No.: 100DLMBKFMU63.7 Curve: 2 Voltage: 480 Phase: 3 Rated Horsepower (HP): 5 Discharge Size: 4 Includes Impeller (Yes/No): Yes					
Barney's Pumps, Inc.	First Offer - \$2,978.00	2 / each	\$5,956.00	Υ	Υ		
Product Code: Agency Notes:		Supplier Product Consupplier Notes: Ma Model Name/No.: A Curve: 02-03 Voltage: 480 Phase: 3 Rated Horsepower Discharge Size: 4 Includes Impeller (Years)	nufacturer Offered: MS434-180/5.5T/C FM (HP): 5.5				

OPN2115473B203-01 Group 3: Submersible Pump, Curve #3, 240V, 3 Phase, 5.5 HP, 4 in. Discharge, 2 in. Guide						
Supplier	Unit Price	,	Total Price	Attch.	Docs	
Grundfos	First Offer - \$2,490.00	6 / each	\$14,940.00		Υ	
Product Code:		Supplier Product Co				
Agency Notes:		Supplier Notes: Mai		Grundfos		
		Model Name/No.: S	L1.30.A40.55.EX.4.61R.C			
		Curve: Curve 3				
		Voltage: 240 V Phase: 3 Ph				
		Rated Horsepower (' HP) · 5 5 HP			
		Discharge Size: 4 Inc				
		Includes Impeller (Y				
Barney's Pumps, Inc.	First Offer - \$3,045.00	6 / each	\$18,270.00	Υ	Υ	
Product Code:		Supplier Product Code: AMS434-190/5.5T/C FM				
Agency Notes:		Supplier Notes: Manufacturer Offered: Homa				
		Model Name/No.: AMS434-190/5.5T/C FM				
		Curve: 03-01				
		Voltage: 230				
		Phase: 3 Rated Horsepower ('UD), E E			
		Discharge Size: 4	,nP). 5.5			
		Includes Impeller (Y	'es/No): ves			
		,	· · · · · · · · · · · · · · · · · · ·			
F J Nugent & Associates Inc	First Offer - \$3,437.00	6 / each	\$20,622.00		Υ	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes: Mai		Ebara		
		Model Name/No.: 80	DDLBKFMU65.5			
		Curve: 3				
		Voltage: 240				
		Phase: 3 Rated Horsepower ('UD). 7 5			
		Discharge Size: 4	пе). 7.0			
		Includes Impeller (Y	'es/No) · Yes			
		morades impener (1	03/110). 103			

OPN2115473B203-02	Group 3: Subme	rsible Pump, Curve #	3, 240V, Single Pha	se, 5.5 HP, 4 in. Dis	charge, 2	in. G
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs

F J Nugent & Associates Inc	First Offer - \$	\$3,386.00	3 / each	\$10,158.00		Υ	
Product Code:			Supplier Product Code:				
Agency Notes:			Supplier Notes: Manufacturer Offered: Ebara				
			Model Name/No.: 8	ODLBKU63.7S			
			Curve: 3				
			Voltage: 240				
			Phase:1				
			Rated Horsepower	(HP) : 5			
			Discharge Size: 4				
			Includes Impeller (Y	'es/No): Yes			
Barney's Pumps, Inc.	First Offer - \$	\$3,439.00	3 / each	\$10,317.00	Υ	Υ	
Product Code:			Supplier Product C	ode: AMS434-1-190-6.7	TC FM		
Agency Notes:			Supplier Notes: Ma	nufacturer Offered:	Homa		
			Model Name/No.: A	MS434-1-190-6.7TC FM			
			Curve: 03-02				
			Voltage: 230				
			Phase:1				
			Rated Horsepower (HP): 6.7				
			Discharge Size: 4				
			Includes Impeller (Yes/No): yes				

OPN2115473B203-03 Group 3: Submersible Pump, Curve #3, 480V, 3 Phase, 5.5 HP, 4 in. Discharge, 2 in. Guide						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Grundfos	First Offer - \$2,490.00	2 / each	\$4,980.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Ma Model Name/No.: S Curve: Curve 3 Voltage: 480 V Phase: 3 Ph Rated Horsepower of Discharge Size: 4 Inc Includes Impeller (Y	nufacturer Offered: L1.30.A40.55.EX.4.61R.C (HP): 5.5 HP h	Grundfos		
Barney's Pumps, Inc.	First Offer - \$3,045.00	2 / each	\$6,090.00	Υ	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Ma Model Name/No.: A Curve: 03-03 Voltage: 480 Phase: 3 Rated Horsepower of Discharge Size: 4 Includes Impeller (Y	nufacturer Offered: MS434-190/5.5T/C FM (HP): 5.5			
F J Nugent & Associates Inc	First Offer - \$3,437.00	2 / each	\$6,874.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes: Ma Model Name/No.: 8 Curve: 3 Voltage: 480 Phase: 3 Rated Horsepower of Discharge Size: 4 Includes Impeller (Y	nufacturer Offered: DDLBKFMU65.5 (HP): 7.5	Ebara		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Grundfos	First Offer - \$3,236.00	15 / each	\$48,540.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Man Model Name/No.: S Curve: Curve 4 Voltage: 240 V Phase: 3 Ph Rated Horsepower (Discharge Size: 4 Includes Impeller (Y	nufacturer Offered: L1.30.A40.75.EX.4.61R.C (HP): 7.5 h	Grundfos	
Barney's Pumps, Inc.	First Offer - \$3,306.00	15 / each	\$49,590.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Mai Model Name/No.: A Curve: 04-01 Voltage: 230 Phase: 3 Rated Horsepower (Discharge Size: 4 Includes Impeller (Y	nufacturer Offered: MS434-200/7.5T/C FM (HP): 7.5		
F J Nugent & Associates Inc	First Offer - \$3,471.00	15 / each	\$52,065.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Mai Model Name/No.:10 Curve:4 Voltage: 240 Phase: 3 Rated Horsepower (Discharge Size: 4 Includes Impeller (Y	nufacturer Offered: DODLBKFMU65.5 (HP): 7.5	Ebara	

OPN2115473B204-02 Group 4: Subm	ersible Pump, Curve #	#4, 480V, 3 Phase, 7	.5 HP, 4 in. Dischar	ge, 2 in. (Guide
Supplier	Unit Price	rice Qty/Unit Total Price Attch.			
Grundfos	First Offer - \$3,236.00	3 / each	\$9,708.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes: Ma Model Name/No.:S Curve: Curve 4 Voltage: 480 V Phase: 3 Ph Rated Horsepower Discharge Size: 4 Includes Impeller (Y	nufacturer Offered: L1.30.A40.75.EX.4.61R.C (HP): 7.5	Grundfos	
Barney's Pumps, Inc.	First Offer - \$3,306.00	3 / each	\$9,918.00	Υ	Υ
Product Code: Agency Notes:		• •	(HP) : 7.5		
F J Nugent & Associates Inc	First Offer - \$3,471.00	3 / each	\$10,413.00		Υ
Product Code:		Supplier Product C	ode:		

Agency Notes:	Supplier Notes: Manufacturer Offered: Ebara Model Name/No.: 100DLMBKFMU65.5 Curve: 4 Voltage: 480 Phase: 3 Rated Horsepower (HP): 7.5 Discharge Size: 4
	Includes Impeller (Yes/No): Yes

OPN2115473B205-01 Group 5: Subme	rsible Pump, Curve #	5, 240V, 3 Phase, 1	0 HP, 4 in. Discharg	je, 2 in. G	luide
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Barney's Pumps, Inc.	First Offer - \$3,837.00	10 / each	\$38,370.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes: Ma Model Name/No.: A Curve: 05-01 Voltage: 230 Phase: 3 Rated Horsepower (Discharge Size: 4 Includes Impeller (Y	nufacturer Offered: MS434-210/7.5T/C FM (HP): 7.5		
Grundfos	First Offer - \$4,090.00	10 / each	\$40,900.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Ma Model Name/No.: S Curve: Curve 5 Voltage: 240 V Phase: 3 Ph Rated Horsepower (Discharge Size: 4 Includes Impeller (Y	nufacturer Offered: L1.30.A40.100.EX.4.61R.6 (HP): 10 HP h		
F J Nugent & Associates Inc	First Offer - \$4,504.00	10 / each	\$45,040.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Ma Model Name/No.: 10 Curve: 5 Voltage: 240 Phase: 3 Rated Horsepower (Discharge Size: 4 Includes Impeller (Y	ode: nufacturer Offered: 00DLBKFMU67.5 (HP): 10	Ebara	

OPN2115473B205-02 Group 5: Submersible Pump, Curve #5, 480V, 3 Phase, 10 HP, 4 in. Discharge, 2 in. Guide								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Barney's Pumps, Inc.	First Offer - \$3,837.00	4 / each	\$15,348.00	Υ	Υ			
Product Code: Agency Notes:		Supplier Product C Supplier Notes: Ma Model Name/No.: A Curve: 05-02 Voltage: 480 Phase: 3 Rated Horsepower (Discharge Size: 4 Includes Impeller (Y	nufacturer Offered: MS434-210/7.5T/C FM (HP): 7.5					
Grundfos	First Offer - \$4,090.00	4 / each	\$16,360.00		Υ			

Agency Notes:		Supplier Product Code: Supplier Notes: Manufacturer Offered: Grundfos Model Name/No.: SL1.30.A40.100.EX.4.61R.C Curve: Curve 5 Voltage: 480 V Phase: 3 Ph Rated Horsepower (HP): 10 Discharge Size: 4 Inch Includes Impeller (Yes/No): Yes					
F J Nugent & Associates Inc	First Offer - \$4,504.00	4 / each	\$18,016.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Ma Model Name/No.: 10 Curve: 5 Voltage: 480 Phase: 3 Rated Horsepower of Discharge Size: 4 Includes Impeller (Ya	nufacturer Offered: 00DLBKFMU67.5 (HP): 10	Ebara			

·	BB206-01 Group 6: Submersible Pump, Curve #6, 240V, 3 Phase, 10 HP, 4 in. Discharge, 2 in. Guide						
Supplier	Unit Price	,	Total Price	Attch.	Docs		
Barney's Pumps, Inc.	First Offer - \$4,115.00	10 / each	\$41,150.00	Υ	Υ		
Product Code:			ode: AMS434-220/10.4				
Agency Notes:		· ·	nufacturer Offered:	Homa			
		Model Name/No.: A	MS434-220/10.4T/C FM				
		Curve: 06-01					
		Voltage: 230 Phase: 3					
		Rated Horsepower	(HD): 10 /				
		Discharge Size: 4	(111). 10.4				
		Includes Impeller (Y	'es/No): ves				
		, , , , , , , , , , , , , , , , , , , ,	, , , , , , , , , , , , , , , , , , ,				
F J Nugent & Associates Inc	First Offer - \$4,470.00	10 / each	\$44,700.00		Υ		
Product Code:		Supplier Product C	ode:				
Agency Notes:		Supplier Notes: Ma	nufacturer Offered:	Ebara			
		Model Name/No.: 100DLMBKFMU67.5					
		Curve: 6					
		Voltage: 240					
		Phase:3	(UD) 10				
		Rated Horsepower (Discharge Size: 4	(HP): 10				
		Includes Impeller (Y	/es/No)·Yes				
		meiuues impener (1	C3/140) . 103				
Grundfos	First Offer - \$4,990.00	10 / each	\$49,900.00		Υ		
Product Code:		Supplier Product C	ode:				
Agency Notes:		Supplier Notes: Ma	nufacturer Offered:	Grundfos			
		Model Name/No.:S	L1.30.A40.100.EX.4.61R.0	2			
		Curve: Curve 6					
		Voltage: 240 V					
		Phase: 3 Ph	(115) 10115				
		Rated Horsepower					
		Discharge Size: 4 Inc Includes Impeller (Y					
		includes impeller (Y	63/140). 162				

OPN2115473B206-02	Group 6: Submersible Pump, Curve #6, 480V, 3 Phase, 10 HP, 4 in. Discharge, 2 in. Guide					
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs

Grundfos	First Offer - \$4,090.00	6 / each	\$24,540.00		Υ
Product Code: Agency Notes:		Supplier Product Consupplier Notes: Ma Model Name/No.: Supplier Curve: Curve: Curve: Curve: 480 Voltage: 480 Voltage: 3 Ph Rated Horsepower: Uscharge Size: 4 Includes Impeller (Young Includes Impe	nufacturer Offered: L1.30.A40.100.EX.4.61R.0 (HP): 10 HP h		
Barney's Pumps, Inc.	First Offer - \$4,115.00	6 / each	\$24,690.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Ma Model Name/No.: A Curve: 06-02 Voltage: 480 Phase: 3 Rated Horsepower of Discharge Size: 4 Includes Impeller (Y	nufacturer Offered: MS434-220/10.4T/C FM (HP): 10.4		
F J Nugent & Associates Inc	First Offer - \$4,470.00	6 / each	\$26,820.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes: Ma Model Name/No.:1 Curve:6 Voltage:480 Phase:3 Rated Horsepower Discharge Size:4 Includes Impeller (Y	nufacturer Offered: 00DLMBKFMU67.5 (HP): 10	Ebara	

OPN2115473B207-01 Group 7: Submersible Pump, Curve #7, 240V, 3 Phase, 15 HP, 4 in. Discharge, 2 in. Guide						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Grundfos	First Offer - \$4,990.00	6 / each	\$29,940.00		Υ	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes: Ma				
		Model Name/No.:S	E1.30.A40.150.4.52H.C.E	X.61R		
		Curve: Curve 7				
		Voltage: 240 V Phase: 3 Ph				
		Rated Horsepower ((HP) · 15 HP			
		Discharge Size: 4 Inc	•			
		Includes Impeller (Y				
			·			
Barney's Pumps, Inc.	First Offer - \$5,062.00	6 / each	\$30,372.00	Υ	Υ	
Product Code:		Supplier Product Co	ode: AMS434-230/13P/	C FM		
Agency Notes:		Supplier Notes: Ma		Homa		
		Model Name/No.: A	MS434-230/13P/C FM			
		Curve: 07-01				
		Voltage: 240 Phase: 3				
		Rated Horsepower ((HD) · 13			
		Discharge Size: 4				
		Includes Impeller (Y	'es/No): yes			
F J Nugent & Associates Inc	First Offer - \$5,458.00	6 / each	\$32,748.00		Υ	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes: Ma	nufacturer Offered:	Ebara		

Model Name/No.: 100DLBKFMU611
Curve: 7
Voltage: 240
Phase: 3
Rated Horsepower (HP): 15
Discharge Size: 4
Includes Impeller (Yes/No): Yes

OPN2115473B207-02 Group 7: Subme					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Grundfos	First Offer - \$4,990.00	1 / each	\$4,990.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Mai Model Name/No.: S Curve: Curve 7 Voltage: 480 V Phase: 3 Ph Rated Horsepower (Discharge Size: 4 Inc Includes Impeller (Y	nufacturer Offered: E1.30.A40.150.4.52H.C.E (HP) : 15 HP h		
Barney's Pumps, Inc.	First Offer - \$5,062.00	1 / each	\$5,062.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Mai Model Name/No.: A Curve: 07-02 Voltage: 480 Phase: 3 Rated Horsepower (Discharge Size: 4 Includes Impeller (Y	MS434-230/13P/C FM (HP) : 13		
F J Nugent & Associates Inc	First Offer - \$5,458.00	1 / each	\$5,458.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Mai Model Name/No.:10 Curve:7 Voltage: 480 Phase:3 Rated Horsepower (Discharge Size:4 Includes Impeller (Y	nufacturer Offered: 00DLBKFMU611 (HP): 15	Ebara	

OPN2115473B208-01 Group 8: Submersible Pump, Curve #8, 240V, 3 Phase, 15 HP, 4 in. Discharge, 2 in. Guide								
Supplier	Unit Price	ce Qty/Unit Total Price Attch.						
Barney's Pumps, Inc.	First Offer - \$4,974.00	6 / each	\$29,844.00	Υ	Υ			
Product Code: Agency Notes:		Supplier Product Code: AMS434·248/15P/C FM Supplier Notes: Manufacturer Offered: Homa Model Name/No.: AMS434-248/15P/C FM Curve: 08-01 Voltage: 240 Phase: 3 Rated Horsepower (HP): 15 Discharge Size: 4 Includes Impeller (Yes/No): yes						
Grundfos	First Offer - \$4,990.00	6 / each	\$29,940.00		Υ			
Product Code:		Supplier Product Code:						

Agency Notes:		Supplier Notes: Manufacturer Offered: Grundfos Model Name/No.: SE1.30.A40.150.4.52H.C.EX.61R Curve: Curve 8 Voltage: 240 V Phase: 3 Ph Rated Horsepower (HP): 15 HP Discharge Size: 4 Inch Includes Impeller (Yes/No): Yes			
F J Nugent & Associates Inc	First Offer - \$5,296.00	6 / each	\$31,776.00	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Mai Model Name/No.: 10 Curve: 8 Voltage: 240 Phase: 3 Rated Horsepower (Discharge Size: 4 Includes Impeller (Y	nufacturer Offered: Ebara 00DLMBKFMU611 (HP): 15	a	

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Barney's Pumps, Inc.	First Offer - \$4,974.00	3 / each	\$14,922.00	Υ	Υ
Product Code: Agency Notes:			(HP) : 15		
Grundfos	First Offer - \$4,990.00	3 / each	\$14,970.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Manufacturer Offered: Grundfos Model Name/No.: SE1.30.A40.150.4.52H.C.EX.61R Curve: Curve 8 Voltage: 480 V Phase: 3 Ph Rated Horsepower (HP): 15 HP Discharge Size: 4 Inch Includes Impeller (Yes/No): Yes			
F J Nugent & Associates Inc	First Offer - \$5,296.00	3 / each	\$15,888.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes: Ma Model Name/No.:1 Curve:8 Voltage: 480 Phase: 3 Rated Horsepower (Discharge Size: 4 Includes Impeller (Y	nufacturer Offered: 00DLMBKFMU611 (HP): 15	Ebara	

OPN2115473B209-01 Group 9: Submersible Pump, Curve #9, 240V, 3 Phase, 15 HP, 4 in. Discharge, 2 in. Guide						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Grundfos	First Offer - \$4,990.00	1 / each	\$4,990.00		Υ	

Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Manufacturer Offered: Grundfos Model Name/No.: SE1.30.A40.175.4.52H.C.EX.61R Curve: Curve 9 Voltage: 240 V Phase: 3 Ph Rated Horsepower (HP): 17.5 HP Discharge Size: 4 Inch Includes Impeller (Yes/No): Yes				
Barney's Pumps, Inc.	First Offer - \$5,164.00	1 / each	\$5,164.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Mai Model Name/No.: A Curve: 09-01 Voltage: 240 Phase: 3 Rated Horsepower (Discharge Size: 4 Includes Impeller (Y	nufacturer Offered: MS434-255-15P/C FM (HP): 15		
F J Nugent & Associates Inc	First Offer - \$5,309.00	1 / each	\$5,309.00		Υ
Product Code: Agency Notes:		Supplier Product Control Supplier Notes: Mai Model Name/No.: 86 Curve: 9 Voltage: 240 Phase: 3 Rated Horsepower (Discharge Size: 4 Includes Impeller (Y	nufacturer Offered: DDLCMBKFMU611 (HP): 15	Ebara	

·	9: Submersible Pump, Curve #	1			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Grundfos	First Offer - \$4,990.00	1 / each	\$4,990.00		Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes: Ma	nufacturer Offered:	Grundfos	
		Model Name/No.: SE1.30.A40.175.4.52H.C.EX.61R			
		Curve: Curve 9			
		Voltage: 480 V			
		Phase: 3 Ph			
		Rated Horsepower	(HP) : 17.5		
		Discharge Size: 4 Inc	ch		
		Includes Impeller (Y	/es/No) : Yes		
Barney's Pumps, Inc.	First Offer - \$5,164.00	1 / each	\$5,164.00	Υ	Υ
Product Code:		Supplier Product C	ode: AMS434-255-15P/	CFM	
Agency Notes:		Supplier Notes: Ma	nufacturer Offered:	Homa	
		Model Name/No.: A	MS434-255-15P/C FM		
		Curve: 09-02			
		Voltage: 480			
		Phase:3			
		Rated Horsepower	(HP) : 15		
		Discharge Size: 4 Includes Impeller (Yes/No): yes			
F I Nugant 9 Associates Inc	First Offer - \$5,309.00	1 / each	\$5,309.00		У
F J Nugent & Associates Inc	First Offer - \$5,309.00				Y
Product Code:		Supplier Product C	ode:		
		_ ' '			
Agency Notes:		Supplier Notes: Ma Model Name/No.: 8	nufacturer Offered:	Ebara	

Curve: 9	
Voltage: 480	
Phase: 3	
Rated Horsepower (HP): 15	
Discharge Size: 4	
Includes Impeller (Yes/No): Yes	

OPN2115473B210-01 Group 1 Supplier	Unit Price		Total Price	Attch.	Docs
		,		Atton.	
Grundfos	First Offer - \$5,546.00	10 / each	\$55,460.00		Υ
Product Code:		Supplier Product Co			
Agency Notes:		Supplier Notes: Mai			
		Model Name/No.: SE1.30.A60.200.4.52H.C.EX.61R			
		Curve: Curve 10			
		Voltage: 240 V Phase: 3 Ph			
		Rated Horsepower ((UD), 20 UD		
		•			
		Discharge Size: 6 Inch Includes Impeller (Yes/No): Yes			
		includes impelier (1	C3/NO) . 103		
Barney's Pumps, Inc.	First Offer - \$5,677.00	10 / each	\$56,770.00	Υ	Υ
Product Code:		Supplier Product Code: AMX644-260/20P/C FM			
Agency Notes:		Supplier Notes: Manufacturer Offered: Homa			
		Model Name/No.: AMX644-260/20P/C FM			
		Curve: 10-01			
		Voltage: 240			
		Phase:3			
		Rated Horsepower ((HP) : 20		
		Discharge Size: 6			
		Includes Impeller (Yes/No): yes			
F J Nugent & Associates Inc	First Offer - \$6,356.00	10 / each	\$63,560.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes: Ma		Ebara	
,		Model Name/No.: 1			
		Curve: 10			
		Voltage: 240			
		Phase:3			
		Phase: 3 Rated Horsepower ((HP) : 20		
			` '		

OPN2115473B210-02 Group 10: Submersible Pump, Curve #10, 480V, 3 Phase, 20 HP, 6 in. Discharge, 2 in. Guide						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Grundfos	First Offer - \$5,546.00	10 / each	\$55,460.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes: Ma Model Name/No.: S Curve: Curve 10 Voltage: 480 V Phase: 3 Ph Rated Horsepower (Discharge Size: 6 Inc Includes Impeller (Y	nufacturer Offered: E1.30.A60.200.4.52H.C.E (HP): 20 HP			
Barney's Pumps, Inc.	First Offer - \$5,677.00	10 / each	\$56,770.00	Υ	Υ	
Product Code: Agency Notes:		Supplier Product Code: AMX644-260/20P/C FM Supplier Notes: Manufacturer Offered: Homa				

		Model Name/No.: AMX644-260/20P/C FM Curve: 10-02 Voltage: 480 Phase: 3 Rated Horsepower (HP): 20 Discharge Size: 6 Includes Impeller (Yes/No): yes			
F J Nugent & Associates Inc	First Offer - \$6,356.00	10 / each	\$63,560.00	Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Manufacturer Offered: Ebara Model Name/No.: 150DLBKFMU615 Curve: 10 Voltage: 480 Phase: 3 Rated Horsepower (HP): 20 Discharge Size: 6 Includes Impeller (Yes/No): Yes				

OPN2115473B211-01 Group 11: Subm	ersible Pump, Curve	#11, 240V, 3 Phase	, 20 HP, 4 in. Discha	rge, 2 in.	Guide
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Barney's Pumps, Inc.	First Offer - \$5,453.00	10 / each	\$54,530.00	Υ	Υ
Product Code: Agency Notes:			(HP) : 20		
Grundfos	First Offer - \$5,546.00	10 / each	\$55,460.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Manufacturer Offered: Grundfos Model Name/No.: SE1.30.A40.200.4.52H.C.EX.61R Curve: Curve 11 Voltage: 240 V Phase: 3 Ph Rated Horsepower (HP): 20 HP Discharge Size: 4 Inch Includes Impeller (Yes/No): Yes			
F J Nugent & Associates Inc Product Code: Agency Notes:	First Offer - \$5,872.00	10 / each Supplier Product C Supplier Notes: Ma Model Name/No.: 1 Curve: 11 Voltage: 240 Phase: 3 Rated Horsepower (Discharge Size: 4 Includes Impeller (Y)	nufacturer Offered: 00DLMBKFMU615 (HP): 20	Ebara	Y

OPN2115473B211-02 Group 11: Submersible Pump, Curve #11, 480V, 3 Phase, 20 HP, 4 in. Discharge, 2 in. Guide						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Barney's Pumps, Inc.	First Offer - \$5,453.00	10 / each	\$54,530.00	Υ	Υ	
Product Code: Supplier Product Code: AMS434-260/20P/C FM						

Agency Notes:	Supplier Notes: Manufacturer Offered: Homa Model Name/No.: AMS434-260/20P/C FM Curve: 11-02 Voltage: 480 Phase: 3 Rated Horsepower (HP): 20 Discharge Size: 4 Includes Impeller (Yes/No): yes				
Grundfos	First Offer - \$5,546.00	10 / each	\$55,460.00	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Mai Model Name/No.: Si Curve: Curve 11 Voltage: 480 V Phase: 3 Ph Rated Horsepower (Discharge Size: 4 Includes Impeller (Y	nufacturer Offered: E1.30.A40.200.4.52H.C.E (HP): 20 HP h		
F J Nugent & Associates Inc	First Offer - \$5,872.00	10 / each	\$58,720.00	Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Mai Model Name/No.:10 Curve:11 Voltage:480 Phase:3 Rated Horsepower (Discharge Size:4 Includes Impeller (Y	nufacturer Offered: DODLMBKFMU615 (HP): 20	Ebara	

OPN2115473B212-01 Group 12: Submersible Pump, Curve #12, 480V, 3 Phase, 25 HP, 4 in. Discharge, 3 in. Guide								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Grundfos	First Offer - \$6,841.00	3 / each	\$20,523.00		Υ			
Product Code:		Supplier Product C						
Agency Notes:		Supplier Notes: Ma						
		Model Name/No.:S	E1.35.A40.270.4.52H.C.E	X.61R				
		Curve: Curve 12						
		Voltage: 480 V Phase: 3 Ph						
		Rated Horsepower	(HP) · 27 HP					
		Discharge Size: 4 Inc	•					
		Includes Impeller (Y						
			,					
F J Nugent & Associates Inc	First Offer - \$7,228.00	3 / each	\$21,684.00		Υ			
Product Code:		Supplier Product C	ode:					
Agency Notes:		Supplier Notes: Manufacturer Offered: Ebara						
		Model Name/No.:1	00DLMBKFMU618					
		Curve: 12						
		Voltage: 480						
		Phase: 3 Rated Horsepower	(UD), 2E					
		Discharge Size: 4	(ПР) . 20					
		Includes Impeller (Y	es/No)·Yes					
Barney's Pumps, Inc.	First Offer - \$7,890.00	3 / each	\$23,670.00	Υ	Υ			
Product Code:		Supplier Product C	ode: AMS444-285/30F/	C FM				
Agency Notes:		Supplier Notes: Manufacturer Offered: Homa						
		Model Name/No.: A	MS444-285/30F/C FM					
		Curve: 12-01						

County Commissioners							
Voltage: 480							
Phase: 3							
Rated Horsepower (HP): 30							
Discharge Size: 4							
Includes Impeller (Yes/No): yes							
							

OPN2115473B213-01 Group 13: Subr	mersible Pump, Curve	#13, 240V, 3 Phase	, 30 HP, 4 in. Discha	rge, 3 in.	Guide
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Grundfos	First Offer - \$8,090.00	1 / each	\$8,090.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Ma Model Name/No.: S Curve: Curve 13 Voltage: 240 V Phase: 3 Ph Rated Horsepower (Discharge Size: 4 Includes Impeller (Y	nufacturer Offered: E1.35.A40.330.4.52H.C.E. (HP): 33 HP		
Barney's Pumps, Inc.	First Offer - \$8,367.00	1 / each	\$8,367.00	Υ	Υ
Product Code: Agency Notes:			(HP) : 30		
F J Nugent & Associates Inc	First Offer - \$8,526.00	1 / each	\$8,526.00		Υ
Product Code: Agency Notes:		Supplier Product Consumption Notes: Ma Model Name/No.:10 Curve:13 Voltage:240 Phase:3 Rated Horsepower Discharge Size:4 Includes Impeller (Y	nufacturer Offered: 00DLBKFMU622 (HP): 30	Ebara	

OPN2115473B213-02 Group 13: Submersible Pump, Curve #13, 480V, 3 Phase, 30 HP, 6 in. Discharge, 3 in. Guide								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Grundfos	First Offer - \$8,090.00	6 / each	\$48,540.00		Υ			
Product Code:		Supplier Product C	ode:					
Agency Notes:		Supplier Notes: Ma	nufacturer Offered:	Grundfos				
		Model Name/No.: S	E1.35.A60.330.4.52H.C.E	X.61G				
		Curve: Curve 13						
		Voltage: 480 V						
		Phase: 3 Ph						
		Rated Horsepower	(HP) : 33 HP					
		Discharge Size: 6 Inc	ch					
		Includes Impeller (\	/es/No): Yes					
Barney's Pumps, Inc.	First Offer - \$8,367.00	6 / each	\$50,202.00	Υ	Υ			
Product Code:		Supplier Product C	ode: AMX644-300-30F0	CFM				
Agency Notes:		Supplier Notes: Ma	nufacturer Offered:	Homa				
		Model Name/No.: A	MX644-300-30FC FM					

	Curve: 13-02 Voltage: 480 Phase: 3 Rated Horsepower (Discharge Size: 6 Includes Impeller (Y	•			
F J Nugent & Associates Inc	First Offer - \$8,526.00	6 / each	\$51,156.00		Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes: Ma Model Name/No.:1 Curve:13 Voltage:480 Phase:3 Rated Horsepower (Discharge Size:6 Includes Impeller (Y	50DLBKFMU622 (HP) : 30	Ebara	

OPN2115473B214-01 Group 14: Submersible Pump, Curve #14, 480V, 3 Phase, 40 HP, 6 in. Discharge, 2 in. Guide							
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Barney's Pumps, Inc.	First Offer	\$10,409.00	2 / each	\$20,818.00	Υ	Υ	
Product Code: Agency Notes:			Supplier Notes: Ma	•	: Homa		
Grundfos	First Offer	\$10,466.00	2 / each	\$20,932.00		Υ	
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Manufacturer Offered: Grundfos Model Name/No.: S1.30.A50.420.4.58H.C.307.G.EX.D.611.Z Curve: Curve 14 Voltage: 480 V Phase: 3 Ph Rated Horsepower (HP): 42 HP Discharge Size: 5 Inch Includes Impeller (Yes/No): Yes 5x6 Adapter will be included				
F J Nugent & Associates Inc	First Offer	- \$11,061.00	2 / each	\$22,122.00		Υ	
Product Code: Agency Notes:			Supplier Product C Supplier Notes: Ma Model Name/No.: 1 Curve: 14 Voltage: 480 Phase: 3 Rated Horsepower Discharge Size: 6 Includes Impeller (*	nufacturer Offered 50DLBFMU630 (HP): 40	Ebara		

OPN2115473B215-01 Group 15: Submersible Pump, Curve #15, 480V, 3 Phase, 60 HP, 6 in. Discharge, 3 in. Guide								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		

Grundfos	First Offer -	\$15,191.00	3 / each	\$45,573.00		Υ
Product Code: Agency Notes:				nufacturer Offered :1.40.A50.700.4.62M.C.3((HP): 70 HP :h (es/No): Yes		11.Z
Barney's Pumps, Inc.	First Offer -	\$15,319.00	3 / each	\$45,957.00	Υ	Υ
Product Code: Agency Notes:			Supplier Product Code: AMX644-350/70G/C FM Supplier Notes: Manufacturer Offered: Homa Model Name/No.: AMX644-350/70G/C FM Curve: 15-01 Voltage: 480 Phase: 3 Rated Horsepower (HP): 70 Discharge Size: 6 Includes Impeller (Yes/No): yes			
F J Nugent & Associates Inc Product Code: Agency Notes:	First Offer -	\$16,180.00	3 / each Supplier Product C Supplier Notes: Ma Model Name/No.: 1 Curve: 15 Voltage: 480 Phase: 3 Rated Horsepower Discharge Size: 6 Includes Impeller (**)	nufacturer Offered 50DLBFMU645 (HP): 60	: Ebara	Y

OPN2115473B216-01 Group 16: Submersible Pump, Curve # 16, 3 Phase, 480V, 50 HP, 6 in. Discharge, 3 in. G								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Barney's Pumps, Inc.	First Offer -	\$14,012.00	6 / each	\$84,072.00	Υ	Υ		
Product Code:			Supplier Product C	ode: AMX644-330/56G	/C FM			
Agency Notes:		Supplier Notes: Manufacturer Offered: Homa						
			Model Name/No.: A	MX644-330/56G/C FM				
			Curve: 16-01					
			Voltage: 480 Phase: 3					
			Rated Horsepower	(UD) - E4				
			Discharge Size: 6	(ПР). 30				
			Includes Impeller (Yes/No): ves				
			,	, , , , , , , , , , , , , , , , , , ,				
Grundfos	First Offer -	\$14,691.00	6 / each	\$88,146.00		Υ		
Product Code:			Supplier Product C	ode:				
Agency Notes:			Supplier Notes: Manufacturer Offered: Grundfos					
				S1.40.A50.540.4.62M.C.29	92.G.Ex.D.6	11.Z		
			Curve: Curve 16					
			Voltage: 480 V					
			Phase: 3 Ph	(UD) . E4				
			Rated Horsepower Discharge Size: 5 Inc	, ,				
			Includes Impeller (
			5x6 Adapter is included	•				
				- -				

F J Nugent & Associates Inc	First Offer - \$15,1	33.00	6 / each	\$91,098.00		Υ
Product Code: Agency Notes:			Supplier Product C Supplier Notes: Ma Model Name/No.: 1 Curve: 16 Voltage: 480 Phase: 3 Rated Horsepower Discharge Size: 6 Includes Impeller (N	nufacturer Offered 50DLBFMU637 (HP):50	: Ebara	

OPN2115473B217-01 Group 17: Subm	ve # 17, 480V, 3 Phase, Rated 100 HP, 6 in. Discharge, 3 in					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Grundfos	First Offer - \$18,141.00	3 / each	\$54,423.00		Υ	
Product Code:		Supplier Product C	ode:			
Agency Notes:		Supplier Notes: Ma	nufacturer Offered	: Grundfos		
			S2.35.A80.1270.4.70H.C.3	340.G.Ex.D.	611.Z	
		Curve: Curve 17				
		Voltage: 480 V				
		Phase: 3 Ph				
		Rated Horsepower	•			
		Discharge Size: 8 Inc				
		Includes Impeller (Yes/No): Yes			
F J Nugent & Associates Inc	First Offer - \$22,906.00	3 / each	\$68,718.00		Υ	
Product Code:		Supplier Product C	ode:			
Agency Notes:		Supplier Notes: Manufacturer Offered: Ebara				
		Model Name/No.:1	50DSC4BC			
		Curve: 17				
		Voltage: 480				
		Phase: 3				
		Rated Horsepower	(HP) : 100			
		Discharge Size: 6				
		Includes Impeller (Yes/No): Yes			

OPN21154/3B218-01 Group	np, No Cur	Curve, 75 HP, 3 Phase, 480V, 6 in. Discharge, 3 in. Gui				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Grundfos	First Offer -	\$15,366.00	1 / each	\$15,366.00		Υ
Product Code:			Supplier Product C	ode:		
Agency Notes:			Supplier Notes: Ma	nufacturer Offered	: Grundfos	
			Model Name/No. : S1.40.A50.790.4.62M.C.326.G.Ex.D.611.Z			511.Z
Curve: N/A						
			Voltage: 480 V Phase: 3 Ph Rated Horsepower (HP): 79 HP Discharge Size: 5 Inch			
			Includes Impeller (Yes/No): Yes			
			5x6 Adapter is included	d		
Barney's Pumps, Inc.	First Offer -	\$16,057.00	1 / each	\$16,057.00	Υ	Υ
Product Code:			Supplier Product Code: AMX644-370/70G/C FM			
Agency Notes:			Supplier Notes: Manufacturer Offered: Homa			
			Model Name/No.: A	MX644-370/70G/C FM		
Curve : 18-01						

		Voltage: 480 Phase: 3 Rated Horsepower (HP): 70 Discharge Size: 6 Includes Impeller (Yes/No): yes		
F J Nugent & Associates Inc	First Offer - \$21,506.00	1 / each	\$21,506.00	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes: Ma Model Name/No.: 1 Curve: No Curve Voltage: 480 Phase: 3 Rated Horsepower Discharge Size: 6 Includes Impeller (V	nufacturer Offered: Ebara 50DSC4 (HP): 75	

		urve, 15 HP, 240V, 3 Phase, 15 HP, 6 in Discharge			Dass
Supplier	Unit Price	_ · J · · · ·	Total Price	Attch.	Docs
F J Nugent & Associates Inc	First Offer - \$5,292.00	3 / each	\$15,876.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Mai Model Name/No.: 19 Curve: No Curve Voltage: 240 Phase: 3 Rated Horsepower (Discharge Size: 6 Includes Impeller (Y	nufacturer Offered: 50DLBKFMU611 (HP): 15	Ebara	
Barney's Pumps, Inc.	First Offer - \$6,574.00	3 / each	\$19,722.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Code: AMX646-340/15.3P/C FM Supplier Notes: Manufacturer Offered: Homa Model Name/No.: AMX646-340/15.3P/C FM Curve: 18-02 Voltage: 240 Phase: 3 Rated Horsepower (HP): 15.3 Discharge Size: 6 Includes Impeller (Yes/No): yes			
Grundfos	First Offer - \$7,519.00	3 / each	\$22,557.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes: Mai Model Name/No.: S Curve: N/A Voltage: 240 V Phase: 3 Ph Rated Horsepower (Discharge Size: 6 Inc Includes Impeller (Y	nufacturer Offered: E1.30.A60.150.4.52H.C.E (HP): 15 HP h		

OPN2115473B218-03 Group 18: Submersible Pump, No Curve, 30 HP, 480V, 3 Phase, 15 HP, 4 in. Discharge							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Barney's Pumps, Inc.	First Offer - \$7,924.00	2 / each	\$15,848.00	Υ	Υ		
Product Code:	Supplier Product Code: AMS444-285/34.5F/C FM						
Agency Notes:	Supplier Notes: Manufacturer Offered: Homa						
		Model Name/No.: AMS444-285/34.5F/C FM					

		Curve: 18-03 Voltage: 480 Phase: 3 Rated Horsepower (Discharge Size: 4 Includes Impeller (Y	·		
F J Nugent & Associates Inc	First Offer - \$8,1	74.00 2 / each	\$16,348.00	Υ	
Product Code: Agency Notes:		Supplier Notes: Mai Model Name/No.: 10 Curve: No Curve Voltage: 480 Phase: 3 Rated Horsepower (Discharge Size: 4	Voltage: 480 Phase: 3 Rated Horsepower (HP): 30		
Grundfos	First Offer - \$8,5	14.00 2 / each	\$17,028.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Manufacturer Offered: Grundfos Model Name/No.: SE1.30.A60.150.4.52H.C.EX.61R Curve: N/A Voltage: 480 V Phase: 3 Ph Rated Horsepower (HP): 15 HP Discharge Size: 4 Inch Includes Impeller (Yes/No): Yes			

OPN2115473B218-04 Group 18: Submersible Pump, No Curve, 25 HP, 480V, 3 Phase, 25 HP, 12 in. Discharge					
Supplier	Unit Price Qty/Unit Total Price		Total Price	Attch.	Docs
F J Nugent & Associates Inc	First Offer - \$9,442.00	3 / each	\$28,326.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Manufacturer Offered: Ebara Model Name/No.: 300DLBKFMU618 Curve: No Curve Voltage: 480 Phase: 3 Rated Horsepower (HP): 25 Discharge Size: 12 Includes Impeller (Yes/No): Yes			
Grundfos	First Offer - \$10,870.00	3 / each	\$32,610.00		Υ
Product Code: Agency Notes:		• •	nufacturer Offered 5E2.50.a120.215.6.52E.C. (HP): 21.5		

OPN2115473B218-05 Group 18: Submersible Pump, No Curve, 30 HP, 480V, 3 Phase, 30 HP, 10 in. Discharge							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Grundfos	First Offer - \$8,801.00	3 / each	\$26,403.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes: Manufacturer Offered: Grundfos					

		Model Name/No.: SE2.45.A100.330.4.52L.C.Ex.61G Curve: N/A Voltage: 480 V Phase: 3 Ph Rated Horsepower (HP): 33 HP Discharge Size: 10 Inch Includes Impeller (Yes/No): Yes				
F J Nugent & Associates Inc	First Offer - \$8,994.00	3 / each	\$26,982.00	Υ		
Product Code: Agency Notes:	Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Manufacturer Offered: Ebara Model Name/No.: 250DLBKFMU622 Curve: No Curve Voltage: 480 Phase: 3 Rated Horsepower (HP): 30 Discharge Size: 10 Includes Impeller (Yes/No): Yes			

OPN2115473B219-01 Group 19: Hourly Labor Rate, Install or Remove, Monday thru Friday, 8 a.m. to 5 p.								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Grundfos	First Offer - \$98.00	30 / hour	\$2,940.00	Υ	Υ			
Product Code:	Supplier Product Code:							
Agency Notes:	Supplier Notes:							
F J Nugent & Associates Inc	First Offer - \$100.00	30 / hour	\$3,000.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Barney's Pumps, Inc.	First Offer - \$114.00	30 / hour	\$3,420.00	Υ	Υ			
Product Code:		Supplier Product Code: Labor						
Agency Notes:	Supplier Notes:							

OPN2115473B219-02 Group 19: Repair, Hourly Labor Rate, Monday thru Friday, 8 a.m. to 5 p.m.								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
F J Nugent & Associates Inc	First Offer - \$50.00	550 / hour	\$27,500.00		Υ			
		Supplier Product Code:						
Agency Notes:	Supplier Notes:							
Grundfos	First Offer - \$98.00	550 / hour	\$53,900.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Barney's Pumps, Inc.	First Offer - \$114.00	550 / hour	\$62,700.00		Υ			
Product Code:		Supplier Product Code: Repair						
Agency Notes:	Supplier Notes:							

OPN2115473B219-03 Group 19: Hourly Labor Rate, Install or Remove, Emergency								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
F J Nugent & Associates Inc	First Offer - \$150.00	10 / hour	\$1,500.00		Υ			
Product Code:	Supplier Product Code:							
Agency Notes:	Supplier Notes:							
Grundfos	First Offer - \$150.00	10 / hour	\$1,500.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Barney's Pumps, Inc.	First Offer - \$171.00	10 / hour	\$1,710.00		Υ			
Product Code:		Supplier Product Code: Labor Emergency						
Agency Notes:		Supplier Notes:						

OPN2115473B219-04	Group 19: Repair	, Hourly Labor Rate,	Repair, Emergency
-------------------	------------------	----------------------	-------------------

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
F J Nugent & Associates Inc	First Offer - \$75.00	30 / hour	\$2,250.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Grundfos	First Offer - \$150.00	30 / hour	\$4,500.00		Υ	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
Barney's Pumps, Inc.	First Offer - \$171.00	30 / hour	\$5,130.00		Υ	
Product Code:		Supplier Product Code: Repair Emergency				
Agency Notes:		Supplier Notes:				

OPN2115473B219-05 Group 19: Perce	ntage Discount fro	m List/Catalog Price	for repair parts			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Grundfos	First Offer - 10.00%	1 / contract	10.00%	Υ	Υ	
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Catalog or Published Price List Number: Grundfos Catalog Effective Date: January 2018 Column quoted (List for discount off): Grundfos List Price Book provided upon Award or at later date					
Barney's Pumps, Inc.	First Offer - 5.00%	1 / contract	5.00%	Υ	Υ	
Product Code: Agency Notes:		Supplier Product Code: Repair Parts Discount Supplier Notes: Catalog or Published Price List Number: HOMA Price List Oct. 16th, 2017 Catalog Effective Date: Oct. 16th, 2017 Column quoted (List for discount off): List Price				
F J Nugent & Associates Inc	First Offer - 5.00%	1 / contract	5.00%		Υ	
Product Code: Agency Notes:		NA Catalog Effective Da	alog or Published Pr		lumber:	

OPN2115473B2-20-01 Group 20: Percentage Discount from List/Catalog Price for Submersible Pumps not listed						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Barney's Pumps, Inc.	First Offer - 15.00%	1 / contract	15.00%	Υ	Υ	
Product Code: Agency Notes:		Supplier Product Code: Pump Discount Supplier Notes: Catalog or Published Price List Number: HOMA Spare Kit Pricing Catalog Effective Date: Oct. 27th, 2017 Column quoted (List for discount off): List Price				
F J Nugent & Associates Inc	First Offer - 5.00%	1 / contract	5.00%		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Catalog or Published Price List Number: NA Catalog Effective Date: NA Column quoted (List for discount off): NA				
Grundfos	First Offer - 5.00%	1 / contract	5.00%	Υ	Υ	
Product Code: Agency Notes:		Grundfos Catalog Effective Da	alog or Published Pr		lumber:	

List Price Book provided upon Award or at later date Supplier Totals f F J Nugent & Associates Inc \$1,100,750.00 (43/43 items) Bid Contact **Fred Nugent** Address 411 Wylly Avenue fred@nugentco.com Sanford, FL 32773 Ph 407-936-1139 Fax 407-936-1640 Supplier Code VC0000029194 **Agency Notes: Supplier Notes:** Head Attch: Bid \$5,000.00 **Allowance** Barney's Pumps, Inc. \$968,296.00 (40/43 items) **Bid Contact** Lynn Bernstein Address 12080 NW 40 Street hidalgoj@barneyspumps.com Coral Springs, FL 33065 Ph 954-346-0669 Fax 954-346-0993 Qualifications SB **Bid Notes** Did not see a specific location to attach extra documents like the Company License and Living Wage Ordinance. Therefore I attached it to the 19.01 Bid attachment upload. Supplier Notes: **Agency Notes:** Did not see a specific location to attach extra documents like the Company License and Living Wage Ordinance. Therefore I attached it to the 19.01 Bid attachment upload. Grundfos \$1,023,103.00 (40/43 items) Bid Contact Ashley Dirou Address DEERFIELD BEACH, FL 33442 adirou@grundfos.com Ph 561-400-7034 **Bid Notes** List Price Book provided upon Award or at later date **Agency Notes: Supplier Notes:** List Price Book provided upon Award or at later date